Agriculture Research Officer - Horticulture 2015,

Ques # 1 (English)

Botanical name of "pilu " is -

A) Nephelium lappaceum
B) Diospyros kaki

C) Salvadora oleoides

D) Averrhoa bilimbi

Exam Date: 23.04.2018

Ques # 1 (Hindi)

dYe] T T fas A ¢ -
A) AhTIH ufaTe
B) ST3EUSUH hieh!

C) HeaTSRT 3ilel3ssH
D) 3maefar faferdr

Ques # 2 (English)

The variety of mango considered seedless-
A) Himsagar

B) Neelum

C) Rosica

D) Sindhu

Ques # 2 (Hindi)
ITH Y AT AT ST areh FeA & -

A) RHIRR
SIGIGE]
C) NTSrehT
D) f&Eg

Ques # 3 (English)
The final jam should contain invert sugar -

A) 0to 10%

B) 15 to 29%
C) 30 to 49%
D) 50 to 70%




Ques # 3 (Hindi)
IR weraTer A TlT e Y AT gl e -

A) 08 10%

B) 15 & 29%
C) 30 & 49%
D) 50 & 70%

Ques # 4 (English)

Which is a non-climacteric type of fruit -
A) Kiwi fruit

B) Avocado

C) Grape

D) Apple

Ques # 4 (Hindi)

e & @ Fiaar A -FaASATF AL -
A) FraY Bel

B) TalhIar

C) 3R

D) a9

Ques # 5 (English)

'Soft nose’ is a physiological disorder of -

A) Guava
B) Mango
C) Papaya
D) Apple

Ques # 5 (Hindi)
A) ARG

B) 3TH

C) gqrar



D) O

Ques # 6 (English)

Which of the following fruits contain highest ascorbic acid content after aonla -
A) Lime

B) Orange

C) Guava

D) Ber

Ques # 6 (Hindi)

et & @ FId et F g & NI T TRIEF IFT AT -
A) =g

B) Gl

C) 31#%S

D) s}

Ques # 7 (English)

Disappearance of angularity of fingers is a maturity index of -
A) Mango

B) Grapes

C) Pomegranate

D) Banana

Ques # 7 (Hindi)

rerferat i Frofirar 1 ety gier swa @ rasr aRyTad gaaF ¢ -
A) 3H

B) 37X

C) 3R

D) ahell

Ques # 8 (English)
Flat sour’ spoilage in canned food is caused by -
A) Bacillus steriothermophillus

B) Clostridium nigrificans
C) Clostridium thermosaccharolyticum



D) E.coli

Ques # 8 (Hindi)

fEeaTeg s1ieTel ¥ "Fole AraT ASAFTFRF & -
A) SHTera TR A e

B) FoilfEeisas fAayftherrea

C) FailfEelzam yAfaaarsdea

D) S.lelTg

Ques # 9 (English)
Which of the following is used as ethylene scavenger in fruit packaging -

A) Potassium metabisulphite
B) potassium permanganate
C) Sodium chloride

D) Sodium hydroxide

Ques # 9 (Hindi)

B S5 H, 3HA A FHAHT TAT SYTT AT Ao & T F FFAT AT § -
A) TITRITH ACHEg Tehse

B) diefey AT

C) AIfsuH FaRSs

D RIS ERIES

Ques # 10 (English)

In India,""Food Safety and Standards Act'* came in to force in the year -

A) 1998
B) 2001
C) 2003
D) 2006

Ques # 10 (Hindi)
R A @Y Y& Ua Al rfafagsr fha af & ey gar -
A) 1998

B) 2001
C) 2003



D) 2006

Ques # 11 (English)

The precursor for ethylene synthesis in higher plants is -
A) Tryptophan

B) Methionine

C) Glutamine
D) Histidine

Ques # 11 (Hindi)

3 9IGUT # SUTSANT HRAYUT T AT & -
A) fecardhet

SRGIRRIGIGH

C) TeferHIT

D) feEdEdA

Ques # 12 (English)

An anti-ethylene compound used in vase solution to increase the vase life of cut flowers is -

A) Silver thio sulfate
B) Sucrose

C) Citric acid

D) Nickel chloride

Ques # 12 (Hindi)

Terale faerder 7 HT Toul T A et F A v2aer 7 A et ara Surgeler e gifes -
A) Beat arar gethe

B) gshid

C) arsfee 31Far

D) fahdl FeR1S3

Ques # 13 (English)
The chemical preservative used for preserving ‘Phalsa’ squash would be -
A) Sodium benzoate

B) Potassium metabisulphite
C) Potassium permengnate



D) Sodium alginate

Ques # 13 (Hindi)
BTTHT" Tl Y TRIFAT I@A & o =197 & > F1et arelt T aRTaTs g1am -

A) |If3TA dSve

B) 4RI AT §1S owhise
C) Ui WeHI=Ie

D) AIfsT# 3Teoileic

Ques # 14 (English)
The formation of black colour compound in tomato ketchup is due to reaction between -

A) Tannins and iron

B) Lycopene and acid
C) Acetic acid and sugar
D) Salt and sugar

Ques # 14 (Hindi)
AT FI9 F FT TN F AN T T FROT TS T AAFAT TR -

A) AT qur ol

B) TSI AT 37Fe
C) uiafes 31eer TUT AR

D) =T T QRT

Ques # 15 (English)

For processing purpose, the potatoes are best stored at a temperature of -

A) Below 4°C
B) Between 4-6°C

C) Between 6-8°C
D) Above 10°C

Ques # 15 (Hindi)

YHEHOT g 3T Y SSROT FIaA T el ATIHTA ¢ -
A) 4°H T HHA

B) 4-6°H.% Heg



C) 6-8°W.%
D) 10°%.% 3T

Ques # 16 (English)

The chemical commercially used to prevent sprouting in potato during storage is -

A) Calcium Chloride
B) Calcium Carbide
C) CEPA
D) CIPC

Ques # 16 (Hindi)
HSTOT & SRIT 3T A HFIOT H Tohel & T SATGAITRAF T @ 3TN A Fd ST} ATelT THRIA & -

A) HFToRIH FARSS
B) HhforIIH FHE183
C) @rzdiw

D) &T.375.91.4.

Ques # 17 (English)

"Pusa Kesar' is a variety of -
A) Radish

B) Carrot

C) Turmeric
D) Saffron

Ques # 17 (Hindi)
A) Helr

B) aoR

C) gedr

D) &

Ques # 18 (English)

Birbal Sahni is a variety of -

A) Chrysanthemum



B) Rose
C) Marigold
D) Tuberose

Ques # 18 (Hindi)

IR AT v e § -
A) T[T

B) I

C) drer

D) TSTeitaremm

Ques # 19 (English)

Bonnneville' is a popular variety of -

A) Pea

B) French bean
C) Lettuce

D) Turnip

Ques # 19 (Hindi)

AT SN TF Al AT FEA ¢ -
A) FicY

B) W el

C) oIcgH [Hellq YedT]

D) reTaTH

Ques # 20 (English)
Which of the following is not an'*Mughal Style'" garden -

A) Pinjore garden, Chandigarh

B) Nishat garden, Srinagar

C) Rashtrapati Bhawan Garden, New Delhi
D) Buddha Jayanti Garden, New Delhi

Ques # 20 (Hindi)
fovar F @ Flerar va Fyarer A w7 3qIT A B -



A) RSN o, T deTe

B) forerrd ST9T, AR

C) Trseufd saet ImsHT, 7S ool
D) e STl IS, 7S feeel

Ques # 21 (English)

Water basins,bridges,pergolas,stone lanterns, islands etc. are features of -

A) Mugal gardens
B) Japanese garden
C) English gardens
D) Italian gardens

Ques # 21 (Hindi)

el F3, 9 HST,IcUT HT ATeIe, T IThE ey faerware g-
A) F3rer F3frar

B) STUTsilot S9f=r

C) 37T safrar

D) sdrerdr safrar

Ques # 22 (English)
Which of the following crop shows protandry -

A) Carrot
B) Tomato
C) Chilli
D) Brinjal

Ques # 22 (Hindi)

foret F @ et woer H qqdar A 2 -
A) ISR

B) THTX

OREE]

D) STl

Ques # 23 (English)



Based on fruit morphology *fig’ is an example of -

A) Hesperidium
B) Syconium
C) Berry

D) Drupe

Ques # 23 (Hindi)

el T F HTAR 3R T 3GTEI0T & -
A) graRfeas

B) AIShITITH

C) I

D) g%

Ques # 24 (English)

Fruit necrosis in aonla is associated with the deficiency of -
A) Zinc

B) Boron

C) Copper

D) Manganese

Ques # 24 (Hindi)
TGl & Bl Fclh 87T FTHIT SAPT FAT TG -
A) STEAT

B) SRIA

C) dfer

D) HaTeireT

Ques # 25 (English)

"Arka Bindu' is a popular variety of -

A) Pomegranate
B) Rose
C) Grape
D) Onion

Ques # 25 (Hindi)



A) 3R
B) I
C) 3R
D) =Tt

Ques # 26 (English)

Which of the following is also called as 'Blanket flower" -

A) Gaillardia
B) Dahlia

C) Tuberose
D) Carnation

Ques # 26 (Hindi)

et 7 @ fhae! "soléhe womaw s FeraTaT § -
INKIGIER

B) sgferar

C) JSTetrarerm

D) FleierT

Ques # 27 (English)

Minimum isolation distance of onion for foundation seed production is -

A) 1500 m
B) 2000 m
C) 1000 m
D) 1200 m

Ques # 27 (Hindi)
TS & HTUR aftet 3ed1eet & faT s gera# ferre gt g1l @ifye -

A) 1500 .
B) 2000 &Y.
C) 1000 #T.
D) 1200 #T.



Ques # 28 (English)

Lucknow -49 is a guava variety developed by selection from the seedling of -

A) Chittidar

B) Allahabad Safeda
C) Apple Colour

D) Allahabad Surkha

Ques # 28 (Hindi)
qAGAS -49, THE Ao M ¥ 77T & ganT AT e g A v e ¢ -
A) RicdierR

B) ScllgTaTe dther
C) Tl helR

D) Selgse JXd@l

Ques # 29 (English)

Which one of the following is recognized as 1st hybrid Tea rose variety in the world -

A) La France

B) Peace

C) Elina

D) Mister Lincon

Ques # 29 (Hindi)
31 W forw Y Rea it wuer 91 & grorma Y e g1 A ATIaT TS @ -

A) oI I

B) 91

C) tferar

D) fATex foldhat

Ques # 30 (English)
Which one of the following tree bears blue flowers -

A) Ixora parviflora

B) Michelia champaca
C) Cassia fistula

D) Jacaranda acutifoia



Ques # 30 (Hindi)
A ¥ P g W AY T F T e} -

Ques # 31 (English)
Which of the following follower is most suited for drying purpose -

A) Aster

B) Helichrysum
C) Dahlia

D) Nasturtium

Ques # 31 (Hindi)

S { T AT TOT YoFeT ¢ HIW 3UFA ¢ -
A) TEX

B) gforsrrsas

C) seferar
D) sTere e

Ques # 32 (English)

The most serious insect pest of carnation is -

A) Red spider mite
B) Aphids
C) Thrips
D) Moths

Ques # 32 (Hindi)
FRAUT FTFIA MHT e NsF ¢ -

A) ofTel &
B) =T
C) Rcw



D) gdem

Ques # 33 (English)

The optimum planting distance for Nagpur mandarin plants budded on rough lemon is -

A) 4x4 m
B) 6x6 m
C) 8x8 m
D) 12x12m

Ques # 33 (Hindi)
G W HIAFRAT AR FT & Gler oanat A gFean gl ¢ -

A) 4x4 FT,
B) 6x6 #.
C) 8x8 .
D) 12x12 &Y.

Ques # 34 (English)

Stem gall disease in coriander is caused by -
A) Erysiphe polygoni

B) Protomyces macrosporus

C) Fusarium oxysporum
D) Cercospora apii

Ques # 34 (Hindi)

gfAaT & 'qAT MY VT FTFRF § -
A) sRTa% qiferemsir

B) FeIATSHIST AhITIRY

C) FgIRIH JeFEIEaRH

D) AehIEIRT T

Ques # 35 (English)

Which one of the following types of fig has functional staminate flowers -
A) Edible fig

B) Caprifig

C) San pedro fig



D) Smyrna fig

Ques # 35 (Hindi)

foest 7 @ FId v THR F 3R A Frarelier gHudigsT g1 @ -
A) HI5T 3R

B) shudifther

C) ¥l U3l 315}

D) TEART 376X

Ques # 36 (English)
Which of the following is leading producer of onion in india -

A) Gujarat

B) Punjab

C) Andhara Pradesh
D) Maharashtra

Ques # 36 (Hindi)
o 7 @ Flaar U R & 1ot #7 3r9roft Icares -

A) TR
B) Yeld

C) 3MTeT 9e2r
D) HERTSE

Ques # 37 (English)
Viral disease 'katte' is main problem in -

A) Cardamom
B) Cinnamon
C) Black pepper
D) Cumin

Ques # 37 (Hindi)

INEEIEE]
B) arerilell



C) arelr AT
D) SIRT

Ques # 38 (English)

Anthesis in bottles gourd occurs in -
A) Morning

B) Evening

C) Midnight

D) Afternoon

Ques # 38 (Hindi)

Y 3 ot ge fBerar e -
A) 9Td:

B) @eam

C) 3ty

D) grIex

Ques # 39 (English)

Xanthomonas citri causes which disease in acid lime -

A) Anthracnose
B) Canker

C) Pink disease
D) Scab

Ques # 39 (Hindi)

oAt Bt 7 ST R g@rT Aer grar @ -
A) TedFAT

B) el

C) R et

D) The

Ques # 40 (English)

The guava root stock Psidium friedrichsthalianum is considerd to be -

A) Dwarf



B) Fruit fly resistant
C) Wilt resistant
D) Drought tolerant

Ques # 40 (Hindi)

3#%g #1 fATw wefardfoeas faaa gasnanare -
A) ST

B) Tel FFWT GTRIedr

C) 3cher TfaRrel

D) {sehell FfcRredr

Ques # 41 (English)
Which of the following is late variety of ber -

A) Gola

B) Mundia
C) Chonchal
D) Umran

Ques # 41 (Hindi)
e & @ Flad T v A FeA -

A) el

B) Hfsar
C) darge
D) AT

Ques # 42 (English)

'Freedom Il " is a virus resistant transgenic variety of -

A) Potato
B) Squash
C) Tomato
D) Brinjal

Ques # 42 (Hindi)
"S- 11" SHHY T RIWIOT SR gt o e § -



A) 3T
B) &%

C) THTX
D) s31eT

Ques # 43 (English)

Guava variety '"Kohir Safed" is a cross between -

A) Kohir x Allahabad Safeda
B) Allahabad Safeda x Kohir
C) Red Fleshed x Kohir

D) L-49 x Kohir

Ques # 43 (Hindi)

TS 1 'FIRT The THTH TART TH THTE -
A) FIET X FeTETE HheT

B) SCIRTETG Thal X e

C) 138 Tel?3 X SITgT

D) Tal-49 X shifgx

Ques # 44 (English)

Fruit setting in brinjal is usually in the flowers having -
A) Long style

B) Medium style

C) Short style
D) Long and medium style

Ques # 44 (Hindi)

S9TeT  WTUROTA: Helel 3o7 oul 7 g1 ¢ et gt 8 -
A) &rer afcien

B) HEIA gfcier

C) o afcienr

D) & U9 ALIA qfcie

Ques # 45 (English)



Most common and problematic weed of lawn is -

A) Cyprus rotundus
B) Joycia japonica
C) Parthenium
D) Oxalis spp.

Ques # 45 (Hindi)
T & ATeT T TN ATUROT 4T FATITSTH EITAAR & -

A) TIETH Uc-34d

B) Safaar auifererr
R IRIGRL

D) 3fteraferd T,

Ques # 46 (English)
Ideal trap crop for tomato fruit borer is -

A) Marigold
B) Mustard
C) Tobacco
D) Potato

Ques # 46 (Hindi)

THATE el Bg & ToIT JTeel SiTel [27] FH § -
A) dreT

B) @&l

C) dsrh

D) 3Te

Ques # 47 (English)

Which of the following fungus is used for biological control of diseases in vegetable crops -
A) Albugo

B) Peronospora

C) Ustilago

D) Trichoderma

Ques # 47 (Hindi)



o A O ST FaF HT 3TN ool FHEAT H Wt F A3 Asor §F e Farsmare -
A) Tegal

B) ORIEIRT

C) 3f&ceran

D) CIShISAT

Ques # 48 (English)

In budding and grafting, the union between stock and scion takes place through -

A) Phloem
B) Xylem
C) Cambium
D) Cortex

Ques # 48 (Hindi)

FHIABIIT TF IHNYOT A FT I AT JTE STell F FAET TAVAT FHA AT S -
A) FAITH

B) Sigeid

O k:ar=-pr:|

D) ®R¢TFH

Ques # 49 (English)

Under north Indian plains, the commercially used root stock for rose is -

A) Rosa damscena
B) Rosa multiflora
C) Rosa borboniana
D) Rosa foetida

Ques # 49 (Hindi)
el (IR & AT T[T FT SATTHIAF T & 3T g1 a1 Head ¢ -

A) ST SHETAT
B) ST HeCIFART
C) T S&ffagreT
D) ST Wifeer



Ques # 50 (English)

""Solo' and "Taiwan' are exotic varieties of -
A) Papaya

B) Pineapple

C) Sapota

D) Mangosteen

Ques # 50 (Hindi)

@ Tt "daEara gaeht fadef A § -
A) qdrar &t

B) oAl <hr

C) e

D) HSIMEETT T

Ques # 51 (English)

Papain rich variety of papaya is -
A) Pusa Dwarf

B) Pusa Nanha

C) CO5
D) Surya

Ques # 51 (Hindi)
qfYeT Y T TR AT 7 qrfY ST arelt e B -

A) qET 3aTth
B) &I sTogl
C) #I.5
D) g&T

Ques # 52 (English)

Date palm is commercially propagated by -
A) Cutting

B) Budding

C) Layering

D) Offshoots



Ques # 52 (Hindi)
G &1 SIS Yatel F3d & -

A) FelH SR

B) hiciehidet GaR]
C) oIRET garT
D) 3Tt §H ganT

Ques # 53 (English)
Which of following vegetable is often cross pollinated-

A) Pea

B) Okra

C) Cauliflower
D) Spinach

Ques # 53 (Hindi)
farfaf@a & wla @ Feolt v Waufa § -
A) HcT

B) f&=ar

C) Detaiedr

D) UTeleh

Ques # 54 (English)

In seed production roguing is done to -

A) Remove weeds

B) Remove off type plants
C) Harvesting of seed crop
D) Remove flower of crop

Ques # 54 (Hindi)

fIST SeuTee ¥ qrUwIoT A § -
A) TAAR AT 8

B) 3faTafag GiYY &l fAehrelel g
C) STST el 3T HeTs 8




D) ®HeT &l Pl geTadl

Ques # 55 (English)

Cole crops are naturally -

A) Cross pollinated

B) Self pollinated

C) Ofetn self pollinated
D) Often cross pollinated

Ques # 55 (Hindi)
aeft aefty wfesTat yefds Trd g g -

A) W QT
B) ¥ Wi
C) 9 T W
D) 9I: W WIfard

Ques # 56 (English)

Mist technique is suitable for rooting of -
A) Leafy cuttings

B) Grafting

C) Budding

D) Air layering

Ques # 56 (Hindi)

FEIT dehelieh 18 fTeral 8 3UTFA & -
A) Ucdl held H

B) &hereT J90T H

C) el gl &

D) agT H

Ques # 57 (English)
Thiourea is used to -
A) Hasten the seed germination

B) For flowering
C) For fruit drop



D) For fruit ripening

Ques # 57 (Hindi)
AT AT FT 3T FA 8 -

A) ST 3T SET & Tolw
B) el oIl & folw

C) el IRTA & farw

D) %ol Yehlel & [T

Ques # 58 (English)
Disbudding in chrysanthemum is done in the month of -

A) January
B) April

C) October
D) December

Ques # 58 (Hindi)

TCT3r A FHiAw F frg 7T A AP -
A) STl

B) 3er

C) 3aeaR

D) fgaeR

Ques # 59 (English)

Cuminol is found in the seed spice of -

A) Clove
B) Cinnamon
C) Cumin
D) Coriandor

Ques # 59 (Hindi)

e e e & FHfATer ar SATar ¥ -
A) deT

B) arerilell



C) SiRr
D) gfear

Ques # 60 (English)

Which part of cinnamon plant is used as spice -

A) Flower
B) Fruit
C) Seed
D) Bark

Ques # 60 (Hindi)

grereiieit & Gler T FleT AT HTT AATAT & T H ITATFAE -
A) T

B) %ol

C) dIet

D) BT

Ques # 61 (English)

G-41 is variety of which spice -
A) Coriandar

B) Black pepper

C) Garlic

D) Clove

Ques # 61 (Hindi)
Si41 fre AdTAT FY fFEAE -

A) gferar
B) areil IR

C) o
D) @41

Ques # 62 (English)
Dill is a type of spices -

A) Herbaceous



B) Shrub annual
C) Tree perennial
D) Herbaceous tree

Ques # 62 (Hindi)
3T Th YR T HAATATE -

A) ATHIT Thayg
B) TSI UehdS g
C) J&T Sga¥i™
D) Qnﬁtragatﬁzr

Ques # 63 (English)
Hottest pepper in the world is -

A) Kashmiri mirch
B) Jwala Chillies
C) Bhut Jolokia
D) Hindpur Chillies

Ques # 63 (Hindi)

g A gea A A e -
A) ®HRY AT

B) SaTel fa<r

C) ¥ Sirenferar

D) feweqr @

Ques # 64 (English)

Yellow vein mosaie virus [YVMV] disease of okra is transmitted by -
A) Aphid

B) White fly

C) Mite

D) Leaf hopper

Ques # 64 (Hindi)
Tt &1 vl R Afores farmoy et s @ $erar 8 -



A) Tar

B) The AFET

C) S&

D) Uecl WA aTell e [Pehr]

Ques # 65 (English)
Neelum (NA-7) variety of aonla is selected from open pollinated strain of -

A) Banarasi
B) Chakaiya
C) Francis
D) BSR-1

Ques # 65 (Hindi)
3rarel Y Aterst (Uer.v.7) Rt T aRor - Ay geolt qufdra wafaa & e g -

A) FRE

B) ThaT

C) wifad

D) s TH 3R.1

Ques # 66 (English)

Wooly aphid is a serious pest in -
A) Apple

B) Walnut

C) Sapota

D) Coconut

Ques # 66 (Hindi)

olt ufths U AR A -
A) OF

B) 3&RIT

C) %

D) ATRT

Ques # 67 (English)



Arka Amulya is a cultivar of guava developed through cross between -

A) Apple Colour x Allahabad Safeda
B) Seedless x Allahabad Safeda
C) Allahabad Safeda x Apple Colour
D) Allahabad Safeda x Seedless

Ques # 67 (Hindi)
3T IHEAT IHHTE Y T freat § O - & 7y wapor g e frar smar g -

A) TTd el X SATTSTE TiheT
B) TSl x SclTgTaTE Athal
C) SclTglaTe, Ahal X TTdl FHolk
D) SeTgIaTe Hhel x el

Ques # 68 (English)

Bitter pit in apple is caused due to deficiency of -

A) Calcium

B) Boron

C) Magnesium
D) Molybdenum

Ques # 68 (Hindi)
AT H "R R FraHr A aars -

A) FHfeaad
B) SRl

C) AIATaTH
D) Alferesad

Ques # 69 (English)

Pusa Navrang is a hybrid variety of -
A) Fig

B) Grapes

C) Guava

D) Mango

Ques # 69 (Hindi)



A) 375X
B) 3R
C) 3%
D) 37T

Ques # 70 (English)

"Flattening of branches’ is a physiological disorder of -

A) Jack fruit
B) Aonla
C) Apple
D) Sapota

Ques # 70 (Hindi)
A) hcgel

B) 3Tdell

C) 4«

D) =t

Ques # 71 (English)

What is optimum temperature for colour development in tomato fruits-
A) 15-18°C

B) 21-24°C

C) 28-30°C

D) 32-35°C

Ques # 71 (Hindi)
THATER & Bl A {1 TAIH ¢ Iefperads ATIAT fhar giar g -
A) 15-18° 3.
B) 21-24°%.
C) 28-30°%.



D) 32-35°%.

Ques # 72 (English)

Which of the following is not a variety of fenugreek -

A) Hisar Sonali

B) Hisar Swarup
C) Hisar Suvarna
D) Hisar Madhavi

Ques # 72 (Hindi)
fRrfaf@a # @ slad ve A i Fea adie -

A) BER Fi=ATelr
B) TRaR &Y
C) e gt
D) R Arerdt

Ques # 73 (English)

Flower cluster of tomato is known as -

A) Umbel
B) Hip
C) Spadix
D) Truss

Ques # 73 (Hindi)

THTER FT IS Feellal ¢ -
A) 3FaoT

B) f&u

C) Turfsaq

D) <&

Ques # 74 (English)
Delayed harvesting in radish may cause -

A) Forking
B) Pithiness



C) Deformed roots
D) High pungency

Ques # 74 (Hindi)

el ¥ 38 @ Tt N F FROT IR -
A) oAl glel

B) HooT Salall

C) SISt & faehfaY 3MTe

D) 31fe dr@TdeT 37T

Ques # 75 (English)

Which of the following is a serious weed in cumin crop -

A) Chenopodium murale
B) Oynodon dactylon
C) Convolvulus arvensis
D) Plantago pumila

Ques # 75 (Hindi)
feafaf@a & & Fiawr v i i v w1 7w TaaR § -

A) RANTSTH 7T

D RSIEGIE G E RG]

C) Hiefarerderd IRAf=ad
D) Telleeal gffer

Ques # 76 (English)
The parentage of Pusa Rasraj variety of Muskmelon is -

A) M3 X Durgapura Madhu
B) M3 X Durgapura Meetha
C) Durgapura Madhu X M3
D) Durgapura Meetha X M3

Ques # 76 (Hindi)
GITSAT T THT THI FFEHT & o1 ¢ -

A) TH.3 X IR #7Y



B) UH.3 X galTqRT #Hrar
C) IR #Y X UA.3
D) gaiTqRT #aT X TA.3

Ques # 77 (English)
Which of the following variety of okra is developed through mutation breeding -

A) Azad Kranti

B) Punjab Padmini
C) Pusa A-4

D) Punjab -8

Ques # 77 (Hindi)
frfaf@a & & A= it Flad e seaRads Joree Rfr Err RsfRa frag e -

A) HTITE SHifed
B) Yele Ufaleir
C) qHTT-4

D) 9T« -8

Ques # 78 (English)

The important quality parameters for export of delydrated onion are -

A) Red colour of bulbs with high pungency
B) White colour of bulbs with high pungency
C) Red colour of bulbs with low pungency
D) White colour of bulbs with low pungency

Ques # 78 (Hindi)

forsteligra carer & faafa 8 aporaar are o fReg ala @ -
A) el T dTel 19T Ud AT drardet

B) ahal T dihe 13T Ud 38 diamds

C) el T ellel T U T drarded

D) al &l Tthe, 1T U hd drardet

Ques # 79 (English)

Which part of clove plant is used as a spice -



A) Whole flower

B) Stigma

C) Peduncle

D) Unopen flower bud

Ques # 79 (Hindi)

AT 3 9 T FIeTaT HIT AT F T H 3UIT AT IATATE -
A) TS

B) dfcieprar

C) gedTdell Joct

D) for=r fgrely g shferepr

Ques # 80 (English)
Quality of pods in pea reduced by conversion of sugar into hemicellulose and starch is due to -

A) High temperature

B) High humidily

C) High nitrogen content in soil
D) Deficiency of boron

Ques # 80 (Hindi)
AHT T TRV T F&Te 7 IRAAT @ HeT Y Bt ¥ J0raar 4 g I1ehl 8, SHHT FROTE -

A) 3T ATIHATH

B) 3= 3Tedl

C) AT 7 srateT Fr 31T
D) §R¥eT hr shT

Ques # 81 (English)

Which one of the following is not correctly matched -

A) Tomato - Solanin

B) Bittergourd - Momordicin
C) Chilli - Capasaicin

D) Garlic - Allicin

Ques # 81 (Hindi)
frrafaf@a & & Flaar wd goas a8t 8-



A) THATE - Tlelellel
B) el - AARSEA
C) A< - g
D) SgHeT - TellTaet

Ques # 82 (English)

Which of the following seed spice is known as 'Bishops weed" -
A) Dill

B) Celery

C) Anise

D) Ajowain

Ques # 82 (Hindi)

Arafaf@a & @ slaar fish aarer v @iz ST sare -
A) T3

B) dell

C) tfasr

D) 3islarge

Ques # 83 (English)

Which of the following shrubs produces fragrant flowers -

A) Tecoma stains

B) Calliandra hybrida

C) Murraya exotica

D) Caesalpinia pulcharima

Ques # 83 (Hindi)

Frarla # & wheret st & iferer qog o & -
A) feaar v

B) hferugr grsfest

C) FRTAT TFH R

D) faaafafaar gea#Ar

Ques # 84 (English)



Dahlia is propogated by -

A) Corm
B) Bulb
C) Tuber
D) Rhizome

Ques # 84 (Hindi)
sefoaT w1 yade Far Imar g -

A) EeTehe,
B) 2Teehehe,
C) e

D) ehe;

Ques # 85 (English)
Calyx splitting is a disorder of -

A) Gerbera
B) Gladiolus
C) Rose

D) Carnation

Ques # 85 (Hindi)

FfarFw wfifafér ve Rer d -
A) ST

B) Toifsdlera

C) Iels

D) HRaA2lA

Ques # 86 (English)

Which of the following species of jasmine is refers to *Spanish Jasmine' -

A) Jasminum auriculatum
B) Jasminum sambac

C) Jasminum humile

D) Jasminum grandiflorum

Ques # 86 (Hindi)



e & & gaeh wor it Flae vl 7 wfaw Swfea & S smarg -

A) STEATH JipeeH
B) SIgfAIH T+
C) SHAfA=IH egATS
D) SIafA=# IMUSFARA

Ques # 87 (English)

Pinching is important operation in -
A) Gladiolus

B) Tuberose

C) Gerbera
D) Carnation

Ques # 87 (Hindi)
Rt o S fr ot 8 -

A) Tafsgtera
B) TSTeirarTemm
C) SR&RT

D) HRa2lA

Ques # 88 (English)

Which of the following pair is not correctly matched -

A) Clerodendron splendens - climber
B) Putranjiva roxburghi - Tree

C) Passiflora incarnata - Shrub

D) Livistinia chinensis - Palm

Ques # 88 (Hindi)
P & & Hlaar 397 7@ gART A ¢ -

A) FARISSIA Telesed - ofdl

B) JeiwoilaT NarsaTs - 95

C) YEFART SeehReTTer - STTET
D) fafaraifaar asafayw - s



Ques # 89 (English)
Which of the following fruit have low pectin and acid content -

A) Sour apple
B) Sour guava
C) jamun

D) Strawberry

Ques # 89 (Hindi)

fArfaf@a # @ S99 war & IfFea va e i AT FA 915 AT -
A) @2 A«

B) @e 3#HEG

C) S

D) Fgrey

Ques # 90 (English)

Fruit squash must have minimum fruit juice pulp percentage of -
A) 20%

B) 25%

C) 30%

D) 40%

Ques # 90 (Hindi)

el UTeTeh A Hell & TH/IET fr Fetars A gt anfee -
A) 20%

B) 25%

C) 30%

D) 40%

Ques # 91 (English)

Penetrometer is an instrument used to measure of fruits -

A) Total soluble solids
B) Suagr: acid ratio
C) Acidity

D) Firmness

Ques # 91 (Hindi)



Sfrteiet o 3umoT  FwET TR weAt A AR @G A e -

A) Fel B TeTd

B) QUhT:37Fcl 3eTUTel
C) 3tFerdr

D) T&dr

Ques # 92 (English)

The flower colour of 'kasuri methi' is -

A) Yellow
B) Blue
C) White
D) Red

Ques # 92 (Hindi)

FYY A & Gor FT GrEaTY -
A) drel

B) sirell

C) |thg

D) offel

Ques # 93 (English)

""Mahima' is a variety of which spice crop -
A) Ginger

B) Turmeric

C) Coriander
D) Fennel

Ques # 93 (Hindi)
raRAT Sl FaTaT Hr AT -

A) 3eTH
B) geal
C) afaar
D) dit



Ques # 94 (English)

Which of the following vareity of pomegranate have maximum fruit cracking -
A) Jodhpur Red

B) Dholka

C) Ganesh
D) Bessein seedless

Ques # 94 (Hindi)
o 3 @ 3R Y Sl fred 7 gt T GeaT AT -

A) STUTR I3

B) @reldhr

C) Jrorer

D) 9f&sT Hiserd

Ques # 95 (English)

Commercial method for propagation of gladiolus is -

A) Bulb
B) Seed
C) Corm
D) Tuber

Ques # 95 (Hindi)

TS Y saraaTiie yaRor fAafer g -
A) UcHh T

B) &t

C) TdFeg

D) &¢

Ques # 96 (English)

Litchi is commercially propagated by -
A) T budding

B) cutting

C) Inarching

D) Air layering



Ques # 96 (Hindi)
=N &1 FraERE yatia fFar smare -

A) "8 FHicthrgeT
B) &elH

C) 9T Fold

D) &Y

Ques # 97 (English)
The fat percentage in coconut is -

A) 20.1
B) 30.1
C) 40.1
D) 50.1

Ques # 97 (Hindi)
aIRTe F gET Ui AT -

A) 20.1
B) 30.1
C) 40.1
D) 50.1

Ques # 98 (English)

""Sindur’ vareity of chilli has bean developed through which breeding methods -

A) Pure line selection
B) Hybridization

C) Introduction

D) Pedigree selection

Ques # 98 (Hindi)

e it gy st s 7 @ Fw worore R @ RsfRa fras e -
A) [ LA a7

B) HshoT

C) uR=g

D) dRITe3TeT a’oT



Ques # 99 (English)
Which of the following is most susceptible to chilling injury during storage at 4°C -

A) Pear

B) Grapes

C) Cucumber
D) Strawberry

Ques # 99 (Hindi)
= & O *iT 4°89. W A4 & W AT 91 & 9id 3T daeasdiel ¢ -

A) ATAATAT
B) 3R

C) @1

D) eiedr

Ques # 100 (English)

The most economical and commercial method for propagation of acid lime is -

A) Grafting
B) Budding
C) Seeds

D) Cuttings

Ques # 100 (Hindi)

e i F gt FT ga@ w¥ar 3 saauE alw s -
A) Fere AqoT

SIEIGEIEG]

C) s

D) &l H






